


Inser&on	
  Sort	
  

For	
  every	
  item	
  in	
  L	
  (except	
  first),	
  from	
  le:	
  to	
  
right:	
  
	
  	
  	
  	
  -­‐	
  find	
  new	
  posi&on	
  for	
  item	
  between	
  0	
  and	
  	
  
	
  	
  	
  	
  	
  	
  	
  item’s	
  old	
  posi&on	
  
	
  	
  	
  	
  -­‐	
  slide	
  all	
  items	
  from	
  0	
  to	
  newpos-­‐1	
  to	
  the	
  
	
  	
  	
  	
  	
  	
  right	
  one	
  slot	
  
	
  	
  	
  	
  -­‐	
  put	
  item	
  into	
  its	
  new	
  posi&on	
  
	
  	
  	
  	
  	
  



[0][1][2][3][4] !
 8  7  5  6  3 !
   !
 7  8  5  6  3 !
!
 5  7  8  6  3 !
!
 5  6  7  8  3 !
!
 3  5  6  7  8 !

	
  
Item	
  =	
  7	
  
	
  
	
  

Item	
  =	
  5	
  
	
  
	
  

Item	
  =	
  6	
  
	
  
	
  

Item	
  =	
  3	
  



Inser&on	
  Sort	
  

for	
  oldpos	
  in	
  range(0,	
  len(L)):	
  
	
  	
  	
  item	
  =	
  L[oldpos]	
  
	
  	
  	
  newpos	
  =	
  0	
  
	
  	
  	
  while	
  L[newpos]	
  >	
  L[oldpos]	
  
	
  	
  	
  	
  	
  	
  newpos	
  =	
  newpos	
  +	
  1	
  
	
  	
  	
  slide_right(L,	
  newpos,	
  oldpos	
  –	
  1)	
  
	
  	
  	
  L[newpos]	
  =	
  item	
  
	
  	
  	
  	
  



Selec&on	
  Sort	
  

run	
  loop	
  from	
  pos=0	
  to	
  pos=len(L)-­‐2	
  
	
  	
  	
  find	
  smallest	
  item	
  in	
  L[pos	
  :	
  len(L)],	
  let	
  that	
  	
  
	
   	
  posi&on	
  be	
  called	
  small_posi&on	
  

	
  	
  	
  swap	
  L[pos],	
  L[small_posi&on]	
  



[0][1][2][3][4] !
 8  7  5  6  3 !
   !
 3  7  5  6  8 !
!
 3  5  7  6  8 !
!
 3  5  6  7  8 !
!
 3  5  6  7  8 !

	
  
Smallest	
  =	
  3	
  
	
  
	
  

Smallest	
  =	
  5	
  
	
  
	
  

Smallest	
  =	
  6	
  
	
  
	
  

Smallest	
  =	
  7	
  



Selec&on	
  Sort	
  

for	
  pos	
  in	
  range(0,	
  len(L)	
  –	
  1):	
  
	
  	
  	
  	
  smallest_pos	
  =	
  pos	
  
	
  	
  	
  	
  for	
  test_pos	
  in	
  range(pos,	
  len(L)):	
  
	
  	
  	
  	
  	
  	
  	
  	
  if	
  L[test_pos]	
  <	
  L[smallest_pos]:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  smallest_pos	
  =	
  test_pos	
  
	
  	
  	
  	
  swap	
  L[pos],	
  L[smallest_pos]	
  



Bubble	
  Sort	
  

Loop:	
  
	
  	
  	
  	
  loop	
  over	
  posi&ons	
  in	
  L	
  from	
  0	
  to	
  len(L)	
  –	
  2:	
  
	
  	
  	
  	
  	
  	
  	
  	
  if	
  L[pos]	
  >	
  L[pos	
  +	
  1],	
  then	
  swap	
  them	
  
	
  	
  	
  	
  do	
  outer	
  loop	
  again	
  if	
  any	
  swaps	
  were	
  made	
  	
  



[0][1][2][3][4] !
 8  7  5  6  3 !
   !
 7  8  5  6  3 !
!
 7  5  8  6  3 !
!
 7  5  6  8  3 !
!
 7  5  6  3  8 !



[0][1][2][3][4] !
 7  5  6  3  8 !
   !
 5  7  6  3  8 !
!
 5  6  7  3  8 !
!
 5  6  3  7  8 !
!
 5  6  3  7  8 !



[0][1][2][3][4] !
 5  6  3  7  8 !
   !
 5  6  3  7  8 !
!
 5  3  6  7  8 !
!
 5  3  6  7  8 !
!
 5  3  6  7  8 !



[0][1][2][3][4] !
 5  3  6  7  8 !
   !
 3  5  6  7  8 !
!
 3  5  6  7  8 !
!
 3  5  6  7  8 !
!
 3  5  6  7  8 !


